> .
Manitowoc
ICE MACHINES & REACH-INS K00049 STACKING KIT

Installation Instructions

These instructions are for stacking an E-0400, G-0400, or G-0600 ice machine on a G-1200 ice machine. The bin must be
level before proceeding.

PARTS LIST:

Item  Description Qty. _PIN

1. Ice Chute Weldment 1 6639714
2 Top Cover 1 6870914
3 Water Shield 1 6639814
4. Top Mounting Bracket 1 6639914
5. Bottom Mounting Bracket 1 6640014
6 Bin Thermostat 1 6025014
7 Bin Thermostat Bulb Mounting Bracket 1 6091314
8. Electrical Box Front Cover 1 6207014
9. Tie Plate 1 6273014
10. Installation Instructions 1 8003293
11. Label - Wiring Diagram 1 8106243
12. RTV Sealer (3 oz. tube) 1 9100691

13. Foam Tape 114" 9202483
14. Screw #10-24 x 5/8" P.P.H.T.C. 5 5202053
15. Screw #10-24 x 3/8" Slotted Hex Hd. TCS 3 5202103
16. Screw #8 x 1/2" S.M.S. 1 5121531
17. Wing Nut #8-32 4 5489021

1. INSTALLATION OF BIN THERMOSTAT BRACKET:
A. Locate the bin, as shown in Illustration 1.
2. INSTALLATION OF G-1200 ICE MACHINE:
See service manual for uncrating and inspection of ice machine.
Remove top cover from ice machine.
Set ice machine carefully and squarely on bin.
Position top cover from kit on right-hand side of ice machine. Attach water shield from kit to top cover using one #8 x
1/2" long sheet metal screw from kit (see Illustration 2).
E. Apply foam tape from kit, as shown in Illustration 2
3. INSTALLATION OF E-0400, G-0400, OR G-0600 ICE MACHINE:
NOTE: G-0600 IS USED TO REPRESENT ANY E-0400, G-0400, OR G-0600.
A. See service manual for uncrating and inspection of ice machine.
B. Remove top cover from ice machine.
C. Position G-0600 ice machine on G-1200 ice machine with back and left sides being flush.
Attach machines together using the tie plate from kit on left side of machines. Remove the right side panel from the
G-0600 ice machine. Drill a 5/32" diameter hole in top cover using an existing hole in the bottom angle of the G-0600
ice machine as a guide. NOTE: Be sure not to damage internal parts of the G-1200 ice machine (see Illustration 3).
D. Before applying RTV sealant in designated areas to insure against leaks or water hang-ups (as shown in Illustration 4),
remove the water pump, high and low valve plastic cover, water curtain, and water trough. After sealing seams with
RTV, replace water pump, water curtain, high and low valve plastic cover, and water trough.

OOw>

Manitowoc Ice, Inc.

2110 South 26 Street, P.O. Box 1720, Manitowoc, W1 54221-1720 USA 8003293
Telephone 920-682-0161, Fax - Sales: 920-683-7589, Service/Parts: 920-683-7585, Other: 920-683-7879 Sheet 1 of 10
Web Site - www.manitowocice.com Rev. 05/17/01

4. INSTALLATION OF BIN THERMOSTAT BULB:



D.

Carefully unwind bulb and tubing and feed down from top ice machine and through right side of opening of lower ice
machine.

Mount bulb of thermostat making sure tubing is clear of ice drop zone.

Remove electrical box front cover from G-0600 ice machine and connect the leads (as shown in lllustration 5 for air
and water-cooled machines and lllustration 6 for remote machines). Place wiring diagram provided in kit over
existing diagram on the G-0600 ice machine front panel.

Use electrical box front cover from kit and run leads through cutout in bottom. Leave top screw loose and tighten
bottom two screws.

INSTALLATION OF ICE CHUTE:

A
B.

nm

G.
H.

l.
BIN
A

Remove front curtain stop from G-1200 ice machine.

Attach bottom mounting bracket from kit to the front base channel of the G-1200 ice machine using two #10-24 X
5/8" sheet metal screws from kit (see Illustration 8).

Remove angle "A" from G-0600 ice machine (see Illustration 8).

Attach top mounting bracket from kit to top rail of G-1200 ice machine using two #10-24 x 5/8" sheet metal screws
from kit

Reattach angle "A".

From the top ice machine, carefully bring the ice chute down in place until the weld studs located on ice chute go
through the slotted holes in the mounting brackets. Secure with four wing nuts provided in kit.

Check for free movement of water curtains on both top and bottom ice machines (styrene covers over evaporators).
Reattach all panels of both ice machines.

Proceed to ice machine service manuals for electrical and water hookups and start-up procedure.

CONTROL SETTING:

If the ice machine shuts off with the ice level in the bin above the control bulb, turn the temperature setting warmer.
If the ice level is below the bulb when the ice machine shuts off, turn the temperature setting colder.

8003293
Sheet 2 of 10
Rev. 05/17/01
8003293



Sheet 3 of 10
Rev. 05/17/01

8003293
Sheet 4 of 10
Rev. 05/17/01

8003293
Sheet 5 of 10
Rev. 05/17/01

8003293
Sheet 6 of 10
Rev. 05/17/01

8003293
Sheet 7 of 10
Rev. 05/17/01

8003293
Sheet 8 of 10
Rev. 05/17/01

8003293
Sheet 9 of 10
Rev. 05/17/01

8003293
Sheet 10 of 10
Rev. 05/17/01



